
ΘΕΜΑ	
  Β	
  
	
  
Ι.	
  Το	
  γυναικείο	
  αναπαραγωγικό	
  σύστημα	
  διαθέτει	
  οργάνωση	
  που	
  εξυπηρετεί	
  την	
  
αναπαραγωγή	
  και	
  την	
  ανάπτυξη	
  του	
  εμβρύου.	
  Να	
  απαντήσετε	
  στις	
  ερωτήσεις:	
  

	
  
α)	
  Ποιες	
  από	
  τις	
  δομές	
  που	
  αποτελούν	
  το	
  αναπαραγωγικό	
  σύστημα	
  της	
  γυναίκας,	
  
βρίσκονται	
  στο	
   εσωτερικό	
   του	
  σώματός	
   της;	
  Ποιος	
   είναι	
   (φυσιολογικά)	
  ο	
  αριθμός	
  
κάθε	
  μιας	
  από	
  τις	
  δομές	
  αυτές	
  στο	
  σώμα	
  μιας	
  γυναίκας;	
  (4μ)	
  
	
  
β)	
  Ποιο	
  είναι	
  το	
  εξωτερικό	
  γεννητικό	
  όργανο	
  της	
  γυναίκας;	
  Ποιες	
  επιμέρους	
  δομές	
  
περιλαμβάνει;	
  	
  (5μ)	
  
	
  
γ)	
   Ποια	
   από	
   τις	
   δομές	
   του	
   αναπαραγωγικού	
   συστήματος	
   της	
   γυναίκας	
   αποτελεί	
  
αδένα;	
  	
  Σε	
  ποια	
  κατηγορία	
  αδένων	
  ανήκει;	
  Να	
  ονομάσετε	
  ένα	
  από	
  τα	
  προϊόντα	
  του.	
  
(3μ)	
  

	
  
ΙΙ.	
  Το	
  τίναγμα	
  της	
  κνήμης	
  μας,	
  όταν	
  το	
  γόνατό	
  μας	
  υποστεί	
  ένα	
  ελαφρό	
  κτύπημα	
  
στο	
  ύψος	
  της	
  επιγονατίδας,	
  ανήκει	
  σε	
  μια	
   ιδιαίτερη	
  κατηγορία	
  απαντήσεων	
  του	
  
νευρικού	
  μας	
  συστήματος	
  στα	
  ερεθίσματα.	
  Να	
  απαντήσετε	
  στις	
  ερωτήσεις:	
  
	
  
α)	
   Πώς	
   ονομάζονται	
   τέτοιες	
   αυτόματες	
   και	
   ακούσιες	
   απαντήσεις	
   του	
   οργανισμού	
  
μας;	
   Να	
   δώσετε	
   τρία	
   παραδείγματα	
   τέτοιων	
   απαντήσεων	
   που	
   σχετίζονται	
   με	
   την	
  
ομοιόσταση.	
  (5μ)	
  
	
  
β)	
   Να	
   αναφέρετε	
   	
   ένα	
   παράδειγμα	
   τέτοιας	
   απάντησης	
   στην	
   οποία	
   συμμετέχει	
   ο	
  
εγκέφαλος.	
  (2μ)	
  
	
  
γ)	
  Ποια	
  είναι	
  η	
  συγκεκριμένη	
  διαδρομή	
  που	
  ακολουθούν	
  οι	
  νευρικές	
  ώσεις,	
  ώστε	
  να	
  
τιναχτεί	
  η	
  κνήμη	
  μας,	
  μετά	
  από	
  κάποιο	
  ερέθισμα	
  στον	
  σύνδεσμο	
  της	
  επιγονατίδας;	
  
(6μ)	
  	
  
	
  
ΘΕΜΑ	
  Δ	
  
	
  
Έχουμε	
  δύο	
  αρτηρίες	
  και	
  δύο	
  φλέβες,	
  αρκετά	
  μεγάλης	
  διαμέτρου	
  που	
  συνδέονται	
  
με	
   την	
   καρδιά.	
  Αντίθετα	
   τα	
  αρτηρίδια	
   και	
   τα	
  φλεβίδια	
   είναι	
  πολύ	
  περισσότερα	
  
και	
  πιο	
  λεπτά.	
  Ακόμη	
  όμως	
  περισσότερα	
  και	
  λεπτότερα	
  είναι	
  τα	
  τριχοειδή	
  αγγεία.	
  
Να	
  εξηγήσετε	
  συνοπτικά:	
  	
  

	
  
I. Για	
  ποιο	
  κατά	
  τη	
  γνώμη	
  σας	
  λόγο	
  η	
  λειτουργία	
  του	
  κυκλοφορικού	
  συστήματος	
  

εξυπηρετείται	
  με	
  το	
  να	
  έχει	
  λίγα	
  και	
  μεγάλης	
  διαμέτρου	
  αγγεία	
  που	
  συνδέονται	
  
με	
  την	
  καρδιά.	
  
	
  	
  

II. Για	
  ποιο	
  κατά	
  τη	
  γνώμη	
  σας	
  λόγο	
  η	
  λειτουργία	
  του	
  κυκλοφορικού	
  συστήματος	
  
εξυπηρετείται	
   με	
   το	
   να	
   έχει	
   πολυάριθμα	
   και	
   μικρής	
   διαμέτρου	
   αγγεία,	
   στο	
  
υπόλοιπο	
  σώμα	
  μας;	
  (12+13μ)	
  

	
  


